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 C(-6,0)  .(  א2

 A(3,-3)  ב.     

 Dy  =7  ג.     

 = x + 3   yד.     
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 E(0,3). 1ה    

·2-  1- =לת שיפועיהם שווה לפמכיוון שמכ BCמאונך ל  AE. 2ה    
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 C(0,12)   ,B(4,0).א ( 3

 M(2,6)ב.      

 R = √40. 1ג     

 ² + (y-6)² = 40(x-2). 2ג     
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 A(-36,0). 1ה     

 יח"ר 228. 2ה     

   

 

 

 



 
 

 

 x ≠ 0  .1(  א4

 x = 0  .2א     

 max(-3.5,-28)  ,min(3.5,28)ב.       

 Iג.  גרף      

 (4,28.5).  למשל ד     

 

 A(-2,20) , B(2,-12) א.(  5

 y=20  .ב     

 הוכחה.   .ג     

 (4,20)היא  Cהנקודה          
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 A(x, x²-2x+8)  ,B(x, -x²+3x-1) .1(  א6

 AB= 2x²-5x+9. 2א     

 Ax =1ב.        


